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Directions (1-4):- Each of the questions below consists 

of a question and two statements numbered I and II 

given below it. You have to decide whether the data 

given in the statements are sufficient to answer the 

question. Read both the statements and give answer.  

a) if the data given in statement I alone is 

sufficient to answer the question, while the 

data given in statement II alone are not 

sufficient to answer the question.  

b) if the data given in statement II alone is 

sufficient to answer the question, while the 

data given in statement I alone are not 

sufficient to answer the question. 

c) If the data either in statement I alone or 

statement II alone is sufficient to answer the 

given question. 

d) If the data in both statement I and II together 

are not sufficient to answer the question. 

e) If the data in the both statement I and II 

together are necessary to answer the 

question. 

 

1. Among P, Q, R and S, which school has the highest 

number of students? 

I. School P has fewer students than School S. 

II. School R has fewer students than School S. 

Ans:- D 

 

2. How is A related to D? 

I. A’s father B is brother of C. C is D’s wife. 

II. A is son of B. B is brother of C. C is D’s wife.  

Ans:- B 

 

3. Five letters B, C, D, E and F are arranged from left to 

right according to certain conditions. Which letter is 

placed third? 

I. D is placed second to the right of B. C is on the 

immediate right of D. There are only two letters 

between F and D. 

II. E is exactly between B and D. Neither B nor D is 

at the extreme end of the arrangement. 

Ans:- C 

 

4. Six Persons L, M, N, O, P and Q are sitting around a 

circular table facing the center. What is M’s position 

with respect to Q? 

I. Only two persons sit between N and P. Q sits 

second to the left of P. O and M are immediate 

neighbors of each other. 

II. M is on the immediate right of O. There are only 

two persons between L and M. Q is an immediate 

neighbor of L but not of O.  

Ans:- B 

 

5. Who is the brother-in-law of X? 

I. X is mother of Y and is married to brother of Z, 

who is a female. 

II. U and W are brothers of Z. T is the wife of W. 

Ans:- E 

 

6. What is Puneet’s rank from top in a class? 

I. In a class of 40 children, Puneet is 28th from the 

bottom. 

II. Puneet is eight ranks below Suman. 

Ans:- A 

 

7. Eight persons J, K ,L ,M, N, O, P and Q are seated 

around a circular table facing the center. Who is 

opposite O ? 

I. O sits second to the left of M, who is neighbor of 

J and L. 

II. P sits opposite M and is neighbor of K and N. 

Ans:- E 

 

8. Who among A, B, C, D and E is the shortest but one? 

I. B is taller than D and E. 

II. C is shorter than E and A. 

Ans:- D 

 

9. How is P related to Q? 

I. R has two daughters and S is one of them who is 

married to P. 

II. R is mother of Q, who is younger sister of S. 

Ans:- E 

  

10. How many sisters does Priti have? 

I. Priti’s parents have four children. 

II. Priti has three brothers. 

Ans:- E 
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11. Four friends P, Q, R and S are seated in a circle facing 

the center but not necessarily in the same order. Is 

anyone seated exactly between R and S, when 

counted from left of R? 

I. Q is seated on the immediate right of R. 

II. Q is seated on the immediate left of P. S is not an 

immediate neighbor of Q. 

Ans:- B 

  

12. Among five friends A, B, C, D and E ( each earning 

different amount), who earns the least ? 

I. A earns more than C, D and E. 

II. D earns more than only C. 

Ans:- B 

 

13. Among L, M, N, O and P seated in a straight line, but 

not necessarily in the same order, facing north, who 

sits exactly in the middle of the line? 

I. L sits third to the left of O. M sits on the immediate 

right of N.  

II. M sits second to the right of L. P is not an 

immediate of O. 

Ans:- E 

 

14. Which direction is A facing now? 

I. From point C, A walks 4m, then he takes a right 

turn and walks 3m. Point C is in the east. 

II. From point D, A walks 3m towards west, then he 

takes a left turn and walks 6m and then he takes a 

right turn and walks 3m and stops. 

Ans:- B 

 

15. What is the code for ‘library’ in a certain code 

language? 

I. In the code language ‘Mihir reading books at 

library’ is written as ‘hi it vp xh mp’. 

II. In the code language ‘Sunjay going to library’ is 

written as ‘xh np yz wi’. 

Ans:- E 

 

16. Who among A, B, C, D and E got the highest marks? 

I. E got less marks than A and C but more than D and 

B. C did not get the highest marks and D did not get 

the minimum marks. 

II. B got more marks than D and C and A got more 

marks than E and B. 

Ans:- C 

17. How is X related to Y? 

I. Z is one of the sisters of X. A is the only brother of 

X. 

II. Y is the brother of B, who is mother of Z. 

Ans:- D 

 

18. Among P, Q, R, S and T, seated in a straight line 

facing north, who sits exactly in the middle of the 

line? 

I. Q sits third to the right of T. R is an immediate 

neighbor of Q. P sits on the immediate left of S. 

II. R sits at one of the extreme ends of the line. Only 

two persons sits between R and P. S sits on the 

immediate right of P. S does not sit at any of the 

extreme ends of the line. 

Ans:- C 

 

19. Among six friends L, M, N, O, P and Q sitting around 

a circular table facing the center, who sits on the 

immediate left on N? 

I. L sits second to the left of N and third to the right 

of Q. M is an immediate neighbor of P.  

II. P is an immediate neighbor of both M and Q. Only 

three persons sit between M and O when counted 

from the left of M. Q is an immediate neighbor of N. 

Ans:- C 

 

20. Five letters A, T, N, I and P are arranged from left to 

right according to certain conditions. Which letter is 

placed third? 

I. N is placed second to the right of A. T is on the 

immediate right of N. There are only two letters 

between P and N.  

II. I is exactly between A and N. Neither A nor N is at 

the extreme end of the arrangement. 

Ans:- C 

 

21. Six persons L, M, N, O, P and Q are sitting around a 

circular table facing the center. What is the position 

of M with respect to Q? 

I. Only two persons sit between N and P. Q is second 

to the left of P. O and M are immediate neighbors 

of each other. 

II. M is on the immediate right of O. There are only 

two persons between M and L. Q is an immediate 

neighbor of L but not of O. 

Ans:- B 
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22. In which direction is point G with respect to point 

H? 

I. Point I is to the east of point G. Point G is to the 

south of point J. 

II. Point J is to the northwest of point H. Point I is to 

the north of point H. 

Ans:- E 

 

23.  Who amongst A, B, C, D and E is the shortest? 

I. A is taller than B. E is not the tallest. 

II. C is taller than A. D is not the tallest. 

Ans:- D 

 

24. On which floor of the building does P stay? ( The 

building has five floors 1, 2, 3, 4 and 5.) 

I. Only the even- numbered floors are occupied and 

P does not stay on the second floor. 

II. P does not stay on an odd- numbered floor. 

Ans:-  A 

 

25. What is the color of milk? 

I.  In a certain code language green is called blue, 

blue is called sky, sky is called white, white is called 

pink and pink is called milk. 

II. In a certain code language pen is called blue, blue 

is called milk, milk is called water and water is called 

white. 

Ans:- A 

 

26. How many students are there in the class? 

I. The number of disqualified students is fifty 

percent of the qualified students. 

II.  Nitesh ranks 12th from the top and 21st from the 

bottom among the qualified students. 

Ans:- E 

 

27. Among  A, B, C, D and E, who is the shortest? 

I.  B is shorter than only E. 

II. C is taller than D but shorter than A. 

Ans:- E 

 

28. Are all the five friends P, Q, R, S and T sitting around 

a circular table facing the center? 

I. P sits second to the right of Q. Q faces the center. 

S and T are immediate neighbor of each other. R sits 

second to the right of T.  

II. S sits second to the right of R.R faces the center. 

Both T and P are immediate neighbors of S. Q sits 

second to the right of P. 

Ans:- D  

 

29. Point W is in which direction with respect to B? 

I. Point L is at equal distance from both point W and 

point B. 

II. Walking 10 km toward east from point W and 

taking two consecutive right turns he walks 10 km 

after each turn and reaches point B. 

Ans:- B 

  

30. What is the code for ‘white paper’? 

I. ‘paper is black’ is written as ‘2 8 1’and ‘black night 

is written as ‘8 6’. 

II. ‘pen are white’ is written as ‘9 4 3’ and ‘pen and 

paper’ is written as ‘3 7 2’. 

Ans:- D 

 

31. P, Q, R, S and T are sitting in a straight line facing 

north. Who sits at the extreme ends of the row? 

I. Q is an immediate neighbor of S and T. Neither S 

nor T sits at any of the extreme ends of the row. 

II. P sits second to the left of Q, who sits second to 

the left of R. 

Ans:- C 

  

32. There are three friends X, Y and Z. All of them have 

a different profession, viz CA, HR and Manager. 

Who is HR among them? 

I. X is a CA in a company but Z is not a Manager. 

II. Y is either HR or Manager and Z is either CA or HR. 

Ans:- A 

 

33. In which direction is B with respect to R? 

I. B is towards the east of P. P is towards north of Q. 

R is towards south-east of P. 

II. R is towards the east of Q. Q is towards the south 

of P. 

Ans:- D 

 

34. How is H related to E? 

I. D is daughter of H and E is daughter of F. H and F 

are married couple. 

II. O is the mother of F, who is the sister of G. 

Ans:- E 
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35. J, K, L, M, N and O are six persons of different 

heights. Who is the tallest? 

I. L is taller than N and O. N is shorter than both K 

and M. J is not the tallest. 

II. M is shorter than only two persons K is taller than 

N and O. J and L are taller than K. 

Ans:- E 

 

36. What is the code for ‘do’ in a certain code language? 

I. In that code language ‘he can do it’ is written as 

‘ko ji la pa’. 

II. In that code language ‘it may possible to do’ is 

written as ‘la vt gh ji ye’. 

Ans:- D 

 

37. Sumit, Ranjit, Geeta, Rahul, Atul and Manjesh are 

sitting in a row facing north. Who sits on the 

immediate left of Geeta? 

I. Geeta is sitting between Sumit and Atul, who is on 

the extreme right end. 

II. Geeta is third to the right of Manjesh and second 

to the left of Rahul. 

Ans:- A 

 

38. How many persons are sitting between H and D in a 

straight line of seventeen persons? 

(Note:- All are sitting in a straight line facing north.) 

I. A sits at the extreme left end of the line. Only four 

persons sit between A and D. Only six persons sit 

between D and F. Only three persons sit between F 

and H. 

II. C sits exactly in the middle of the line. Only two 

persons sit between B and C. Only four persons sit 

between B and H. B sits on the left of H. D sits third 

to the left of C.  

Ans:- B 

 

39. Six persons J, K, L, M, N and O are sitting around a 

circular table but not necessarily in the same order. 

Some of them are facing the center while some are 

not. What is the position of J with respect to N? 

(Note:- Facing the same direction means, if one is 

facing the center then the other is also facing the 

center and if one is facing outside then the other is 

also facing outside. Facing opposite direction means 

if one is facing center then the other is facing 

outside and vice versa). 

I. L sits second to the right of N. N does not face the 

center. L is an immediate neighbor of both M and K. 

O sits second to the left of M. M faces the same 

direction as N. 

II. Only two persons sit between K and N. Both K and 

N do not face the center. N is an immediate 

neighbor of both M and O. K is an immediate 

neighbor of both L and J. J is not an immediate 

neighbor of M. 

Ans:- A 

 

40. How is A related to R? 

I. A is mother of P. Q is married to C. R is daughter 

of Q. C is brother of P. 

II. A is married to B. B is father of P. P is married to 

S. P is uncle of R. 

Ans:-C 

 

41. Among six persons B, E, F, I, K and L, who is the 

tallest? 

I. F is taller than only two persons. E is taller than B 

but not the tallest. K is taller than only L. 

II. B is shorter than only two persons. K is taller than 

L but shorter than F. F is shorter than B. E is shorter 

than I. 

Ans:-  C 

 

42. Six persons T, U, V, W, X and Y live in a building but 

not necessarily in the same order. There are six 

floors in that building and only one person lives on 

each floor. The ground floor is numbered one and 

the floor above it is numbered two and so on. The 

topmost floor is numbered six. Who among the 

flowing lives on the lowest floor? 

I. T lives on the floor number five. Only two persons 

live between the floors on which T and U live 

respectively. X lives immediately above the floor on 

which W lives. 

II. W lives on floor number three. Only two persons 

live between the floor on which V and W live 

respectively. U lives immediately above the floor on 

which Y lives. U lives on an even-numbered floor. 

Ans:- B 

 

43. J, K, L, M and N are sitting in a straight line facing 

north. Who sits third from the right end of the line? 
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I. J sits second to the left of K. K sits second to the 

left of L. 

II. K is an immediate neighbor of N and M. Neither 

N nor M sits at either extreme end of the line. 

Ans:-  C 

 

44. On which day of the same week is Nidhi’s birthday? 

(The week starts from Monday) 

I. Rajesh remembers that Nidhi’s birthday is on a 

day after Tuesday but before Friday of the same 

week. 

II. Sunil remembers that Nidhi’s birthday is on a day 

after Monday but before Thursday of the same 

week. 

Ans:- E 

 

45. How many female members are there in the family 

of four persons J, K, L and M consisting of a married 

couple and two children? 

I. J is father of M. M is sister of K.  

II. L is mother of K 

Ans:- D 

 

46. Six persons P, Q, R, S, T and U are sitting around a 

circular table facing the center. Who among the 

following sits on the immediate left of T? 

I. Only two persons sit between P and Q. U sits 

opposite T. 

II. T is not an immediate neighbor of P. S sits on the 

immediate right of Q. 

Ans:- E 

 

47. In which direction is point A with respect to point C? 

I. Point A is towards north of point B, which is 

towards south-west of point C. 

II. Point B is towards east of point E, which is 

towards northeast of point C. 

Ans:- D 

 

48. Among five friends A, B, C, D and E, each studying in 

a different standard, viz 1st, 4th , 7th , 8th and 10th. In 

which standard does C study? (‘Junior’ in the 

statements implies a lower standard and ‘senior’ a 

higher standard.) 

I. B studies in a standard which is an odd number. C 

is B’s senior but does not study in 10th standard. 

II. Only three students are senior to A. B is senior to 

A but junior to C. 

Ans:-  E 

 

49. Four friends, viz P, Q, R and S, are seated around a 

circular table. Some of them are facing the center 

while some others are facing outwards. Which 

direction is R facing? 

I. R sits second to the left of S. R sits on the 

immediate right of Q. 

II. Q sits on the immediate right of R. P is an 

immediate neighbor of both R and S. 

Ans:- D 

 

50. Point M is in which direction with respect to point 

A? 

I. A person starts walking from point A, walks 5 m 

towards north and then takes a right turn and walks 

8 m. He then takes a left turn and walks for 3 m 

before stopping at point Z. Point M is 12 m away 

from point Z. 

II. A person starts from point A and walks 9 m 

towards the west. He then takes a right turn and 

walks 9 m. He then takes a right turn and walks 5 m. 

He then takes a final right turn and stops at point R 

after walking 5 m. Point M  is towards the north of 

point R. 

Ans:- D  

 

51. Is Q father of A? 

I. M is the mother of A and B. C is the only sister of 

A. R is married to B. R is daughter-in-law of Q. 

II. Q has only one daughter C. C is sister of A and B. 

B is son of M. R is daughter-in-law of M. 

Ans:- A 

 

52. Six people are sitting in two parallel rows containing 

three people each in such a way that there is an 

equal distance between adjacent persons. In row-1 

A, B and C are seated and all of them are facing 

south. In row-2, P, Q and R are seated and all of 

them are facing north. (Therefore, in the given 

seating arrangement each member seated in a row 

faces another member of the other row.) Who 

amongst A, B and C faces R? 

I. A faces the one who sits on the immediate right of 

R. A is not an immediate neighbor of C. 
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II. Only one person sits between Q and P. The one 

who faces B sits on the immediate left of Q.  

Ans:- C 

 

53. Who among D, E, F, G and H scores the highest in an 

examination? 

I. E scores as many marks as D, who scores eight 

marks more than F. 

II. G does not score the highest marks in the 

examination but he scores 10 marks more than F. 

Ans:- E 

 

54. Six friends Arman, Bunty, Chandan, Dinesh, Imran 

and Pawan are sitting around a circular table facing 

the center. Who sits second to the right of 

Chandan? 

I. Pawan and Bunty sit opposite each other and 

Imran sits between Bunty and Dinesh but not 

second to the left of Pawan.  

II. Chandan sits second to the right of Dinesh and 

Dinesh sits second to the right of Imran. 

Ans:-  B 

 

55. How is N related to Q? 

I. P has two children but has only one daughter. Q is 

son of S. 

II. K is the daughter of N, who is mother of S and 

wife of P. 

Ans:- E 

 

56. Among S, T, U, V, W and Z, how many persons are 

smaller than T? 

I. U is taller than only three persons and smaller 

than T, who is the tallest. 

II. W and Z are smaller than T and taller than S. V is 

taller than S. 

Ans:-  A 

 

57. D is in which direction with respect to S? 

I. P and R are in a straight line and R is to the siuth 

of D. 

II. S is to the south of P, which is to the north of D. 

Ans:- D 

 

58. V, W, X, Y and Z are sitting around a circular table 

facing the center. Who is second to the right of V? 

I. X is on the immediate left of Z and second to the 

right of Y. 

II. W is on the immediate right of Y and third to the 

left of V. 

Ans:- B 

 

59. In which direction Q is facing now? 

I. From point P, Q walks 5 m towards east, then he 

takes a right turn and walks 10m and again he takes 

a right turn and walks 5m and stops. 

II. From point N, Q walks 15m, then he takes a left 

turn and walks 10m. Point N is in the south. 

Ans:- A 

  

60. What is Ranjan’s rank from the top in the class of 

thirty students? 

I. Raman’s rank is fifteenth from the top in the class 

and he is six ranks below Ranjan. 

II. Raj is six ranks ahead of Sonal and his rank is fifth 

from the top in the class. 

Ans:- A 

 

61. How many children are there in the row, all of them 

facing north? 

I. S is eighth from the left end of the row and is third 

to the left of T. 

II. V is tenth from the right end of the row and is 

fifth to the right of T. 

Ans:- E 

 

62. W’s flat is on which floor of the five-floor apartment 

( Starting from first floor and going up to fifth floor.) 

I. W’s flat is exactly above the flat of G, whose flat is 

exactly above N’s flat, which is the first floor. 

II. Z’s flat is adjacent to W’s flat, which is exactly 

below A’s flat, which is on the fourth floor. 

Ans:- C 

 

63. In which month (of the same year) was Ritesh 

appearing for an exam? 

I. Ritesh’s brother correctly remembers that he 

appeared for the exam after April but before 

November and that the month of his exam had 

exactly 30 days. 

II. Ritesh’s sister correctly remembers that he 

appeared for the exam after June but before 
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December and that month of his exam did not have 

31 days. 

Ans:- E  

 

64. Five friends P, Q, R, S and T are sitting around a 

circular table facing the center. Who sits second to 

the right of S? 

I. Only two persons sit between S and T. Only one 

person sits between T and Q. P is an immediate 

neighbor of T. 

II.  R sits second to the left of S. Only one person sits 

between R and P. Q is not an immediate neighbor of 

P. 

Ans:- C 

 

65. Is M aunt of T? 

I. K is son of M. K is brother of J. J is daughter of D. 

N is sister of D. T is daughter of N. 

II. L is father of T. N is mother of T. D is brother of N. 

D has two children J and K. M is married to D. 

Ans:- B 

  

66. How far and in which direction is point L from point 

P? 

I. Point M is 5m to the south of point L. Point N is 

7m to the east of point M. Point O is 5m to the north 

of point N. Point P is to the east of point O. 

II. Point L is 19m to the west of point S. Point S is 5m 

to the north of point R. Point Q is 7m to the west of 

point R. Point P is to the north of point Q such that 

point O and point P form a straight line of 5m. 

Ans:-  D 

   

67. Seven persons P, Q, R, S, T, U and V are standing in 

a straight line facing north. What is the position of 

V from the right end of the line? 

I. Q stands on the extreme ends of the line. Only two 

persons are there between Q and R. V is an 

immediate neighbor of R. 

II. S stands at one of the extreme ends of the line. 

Only four persons stand between S and T. V is an 

immediate neighbor of T. 

Ans:- D 

 

68. How is G related to F? 

I. The father of G is the husband of H, who is the 

mother of F, who is wife of C. 

II. The wife of G is the sister-in-law of F. 

Ans:- E 

 

69. Among C, D, E, F, H and J, each of different heights, 

who is the tallest among them? 

I. D is shorter than F and taller than only J. 

II. E is taller than F and D but shorter than only C. 

Ans:- B 

 

70. How is R related to N? 

I. R is son of M, whose daughter is mother of N. 

II. M is father of R and S is mother of N. 

Ans:- A 

 

71. Who is the tallest among A, B, C, D and E? 

I. A is taller than only D. C is taller than E but as tall 

as B. 

II. E is taller than only A and D. C is as tall as E. 

Ans:-  C 

 

72. In which direction was P facing after he stopped 

walking? 

I. P walked 12m towards west , took a left trun and 

walked 10m. He again took a left turn and stopped 

after 15 m. 

II. P walked 15 m towards east, took a right turn and 

walked 12m. Then he took a left turn and stopped 

after walking 8m. 

Ans:- C 

  

73. P, Q, R, S, T and U are sitting in a circle. Who sits on 

the immediate left of P? 

I. P sits second to the right of Q, who is third to the 

left of R. 

II. T sits second to the right of P and opposite S. 

Ans:- B 

 

74. What does ‘@’ stands for in the code language? 

I. ‘95@’ means ‘flower is red’ and’$@9’ means red 

color flower’ in a code language. 

II. ‘7@8’ means ‘red blood cell’ and ‘$@6’ means ‘its 

red color’ in a code language. 

Ans:- B 

 

75.  P, Q, R, S, T, U, V and w are sitting in a circle facing 

the center. Who is third to the left of Q? 
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I. U is on the immediate right of Q and V is neighbor 

of T. R is between T and U. 

II. W is on the immediate left of P but is not the 

neighbor of T and S. 

Ans:- E 

 

76. In which direction is A with respect to E? 

I.  A is 50m to the south-west of B, who is 70m to 

the north of D. 

II. C is 40m to the east of D and 20m to the south of 

E. A and E lie on an east-west straight line. 

Ans:- E 

 

77. How man students are there in the class? 

I. Pravin’s rank  is 21st from the bottom and is 8 

ranks above Prasant, whose rank is 19th from the 

top. 

II. Nilesh’s rank is exactly in the middle of the 

students of the class and 5 ranks above Mira, whose 

rank is 11th from the bottom. 

Ans:- C 

 

78. How is the word ‘FOLDER’ coded in the code 

language? 

I. ‘PAPER’ is coded as ‘LALWJ’ and ÇHECK’ is coded 

as ‘YTWYQ’. 

II. ‘SHOW’ is cpoded as ‘ITME’ and ‘ROUND’ is coded 

as ‘JMGNX’.  

Ans:- C 

 

79. Who among V, W, X, Y and Z is the immediate 

neighbor of W and Y? All are sitting at a circular 

table. 

I. X, who is third to the left of W, is on the immediate 

right of Z and second to the left of V. 

II. X is second to the left of V, who is third to the 

right of Z, who is second to the left of Y. 

Ans:-  C 

 

80. Among E, F, G, H, I and J, who is the tallest? 

I. H and I are taller than J, E and F but none of them 

is the tallest. 

II. I is taller than H but shorter than G. 

Ans:- A 

  

81. What is Sonu’s rank from the top in a class of thirty 

students? 

I. Sona’s rank is fifteenth from the top in the class 

and he is six ranks below Sonu. 

II. Sonal is six ranks ahead of Monal and his rank is 

fifth from the top in the class. 

Ans:- A 

 

82. In a certain code 48 means ‘stop smoking’ and 62 

means ‘injurious habit’. What do 6 and 8 mean 

respectively in that code? 

I. 4 6 7 means ‘stop  bad habit’. 

II. 8 2 9 means ‘smoking is injurious’. 

Ans:- C 

 

83. How many boys are there between Q and N in a row 

of fifty boys? 

I. Q is six places away from J, who is twentieth from 

the left end. 

II. Q is twelfth from the left end and N is 

seventeenth from the right end. 

Ans:- B 

 

84. What does ‘#’ mean in a code language? 

I. ‘3$56’ means ‘flowers are so beautiful’. 

II. ‘6$3#’ means ‘red flowers are beautiful’. 

Ans:- E 

 

85. Is E greater than N? 

I. N is equal to G, which is either smaller than or 

equal to F. E is greater than F. 

II. F is either greater than or equal to N, which is 

equal to G. E is neither smaller than nor equal to F. 

Ans:- C 

 

86. How many brothers does X have? 

I. X is brother of E, who is the youngest is the family. 

II. X has two siblings, one of whom is H. 

Ans:- D 

 

87. Five friends M, N, O, P and Q are sitting around a 

circular table facing the center. Who sits exactly 

between P and Q? 

I. N sits second to the left M, who faces the center. 

P sits on the immediate right of M. 

II. O sits third to the right of N. M sits on the 

immediate left of O, who is not the neighbor of P. 

Ans:- B 
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88. How is ‘there’ written in a code language? 

I.  ‘please go there’ is written as ‘5 8 4’ and ‘he is 

there’ is written as ‘9 4 3’. 

II. ‘there is tree’ is written as ‘9 4 6’ and  ‘its mango 

tree’ is written as ‘6 7 5’. 

Ans:- A 

 

89. Is Q granddaughter of P? 

I. P is mother of A and has two grandchildren. 

II. The brother of A has two children Q and R.  

Ans:- D 

 

90. Who among A, B, C, D and E is the tallest? 

I. B is taller than only C and D. E is taller than B and 

A. 

II. Only three persons are shorter than C. The height 

to e is 2 cm more than that of C. 

Ans:-  C 

  

91. Are all the five friends, viz, P, Q, R, S and T, seated 

around a circular table facing the center? 

I. P sits third to the left of Q. Q faces the center. S 

and T are immediate neighbors of each other. R sits 

second to the right of T. 

II. S sits second to the right of R. R faces the center. 

Both T and P are immediate neighbors of S. Q sits 

second to the right of P. 

Ans:- B 

  

92. In a college five different sports, viz Hockey, 

Football, Tennis, Cricket and Badminton, are played 

on five different days of the same week, and the 

week starts from Monday and ends on Friday. Is 

Football played on Wednesday? 

I. Two sports are played between Cricket and 

Badminton. Badminton is played before Cricket. 

Football is played on the next day when Hockey is 

played. Tennis is not played on Friday. 

II. Three sports are played between Tennis and 

Cricket.  Badminton is played immediately before 

Hockey. Tennis is not played on Friday. 

Ans:- C 

  

93. Is F grandson of B? 

I. B is mother of N. N is brother of U. U is father of 

F.  

II. T is daughter of F. W is son of F. S is sister of U. 

Ans:- D 

94.  ‘P’ is in which direction with respect to Q? 

I. M is to the west of T, which is to the north of Q. P 

is to the south of M.  

II. R is to the south of P and to the west of Q. 

Ans:- B 

  

95. In which month of the year did Rahul go abroad for 

a vacation? 

I. Rahul correctly remembers that he went for a 

vacation in the first half of the year. 

II. Rahul’s son correctly remembers that he went for 

a vacation after 31st March but before 1st May. 

Ans:- B 

 

96. Among friends M, N, O, P, Q and R, who is the 

second heaviest? 

I. O is heavier than only two friends. P heavier than 

O but lighter than N. R is the heaviest.  

II. M is lighter than only two friends. P is heavier 

than only Q. N is heavier than O but lighter than R. 

Ans:- C 

 

97. How many marks did Suman score in the twenty-

mark exam? 

I. Suman scored two-digit marks and her marks was 

not in odd numbers. 

II. Suman scored more than 14 marks but less than 

18 marks. 

Ans:- E 

 

98. Among six people E, F, G, H, I and J standing around 

a circle facing the center, what is the position of G 

with respect to F? 

I. E stands second to the right of G. Only one person 

stands between E and I. F is an immediate neighbor 

of G.  

II. Only two people sit between G and H. H is an 

Immediate neighbor of both I and E. F is an 

immediate neighbor of I. 

Ans:- E 

 

99. Who among P, Q, R, S and T is the tallest? 

I. P is taller than Q. T is not the tallest. 

II. R is taller than P. S is not the tallest. 

Ans:- E 
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100. How many brothers does R have? 

   I. X is the only son of Mr. Verma, who is father of K. 

  II. X is brother of K, who is the only sister of R. 

  Ans:- E 

  

101. What is Mandira’s rank from top in a class of 40    

students? 

I. Mandira is four ranks above Keshav, who is 10th 

from the bottom. 

II. Mandira is three ranks below Namrata, who is 17th 

from the bottom. 

Ans:- C 

 

102. Among P, Q, R, S and T, each having a different 

weight, who is the heaviest? 

I. P is heavier than S, and T is heavier than P. 

II. R is lighter than only Q. 

Ans:- B 

 

103. What is the code for ‘she’? 

I. ‘la ka pa sa’ means ‘she can do this’ in the code 

language. 

II. ‘na ha sa ta’ means ‘she knows about it’ in the code 

language. 

Ans:- E 

 

104. How far is K from the starting point and in which 

direction? 

I. K walks 5m towards east, then takes a right turn nad 

walks 5m. He again walks 10m towards right. Finally 

he walks 5m towards right and stops. 

II. K walks towards his right and turns to his left and 

walks 10m. Again he turns to his right and walks 8m, 

then he turns to his right and walks 18m and stops. 

Ans:- A 

 

105. How far and in which direction is point B with 

respect to point A? 

I. Point G is 6m to the east of point A. Point C is 9m to 

the north of point G. Point F is 3m to the west of point 

C. Point B is 6m away from point F. 

II. Point M is 8m to the west of point B. Point R is 8m 

to the south of point M. Point A is 11m to the east of 

point R. Point C is to the northeast of point A. 

Ans:- B 

 

106. Among the persons A, B, C, D, E and F sitting around 

a circular table facing the center, who sits second to 

the right of A? 

I. A is second to  the right of F. Only two people sit 

between A and D. B is an immediate neighbor of 

neither D nor F. 

II. Only one person sit between A and F (either from 

left or right). Only two people sit between F and B. C 

sits on the immediate left of D. D is not an immediate 

neighbor of B. 

Ans:- B 

 

107.  Five boxes, viz A, B, C, D and E, are kept one above 

the other in a stack. How many boxes are kept 

between box E and box B? 

I. only two boxes are kept between box C and box D. 

Only one box is kept between box C and box B. Only 

two boxes are placed between box E and box A. Box 

E is placed at one of the position above box A and 

below box C. 

II. No box is kept between box D and box B. Only two 

boxes are kept between box C and box D. Box e is kept 

at one of the position above box A but below box C. 

Ans:- A 

 

108. Among six people, viz C, D, E, F, G and H, sitting in a 

straight line with equal distance between each other 

and facing north, who is second to the left of G? 

I. C sits third from the left end of the line. Only one 

person sits between C and H. Only two people sit 

between E and G. G sits at one of the positions to the 

right of E. 

II. E sits third to the left of G. G does not sit at an 

extreme end of the line. More than three people sit 

between H and F. F sits at one of the position to the 

right of H. 

Ans:- E 

  

109. Among five cities P, Q, R, S and T, P is in which 

direction with respect to Q? 

I. P is to the west of R, which is to the south of T. Q is 

to the east of T. 

II. S is to the north of Q and southwest of R, which is 

to the west of P. 

Ans:- C 
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110. Among six persons A, B, C, D, E and F, who is the 

tallest? 

I. A is shorter than only two persons and D is taller 

than only E. 

II. C is taller than only two persons. D is taller than C 

but shorter than B. 

Ans:- D 

 

111.  Amit, Sunit, Ravi, Ramesh and Vijay are sitting 

around a circular table facing the center. Who among 

them is sitting on the immediate right of Ravi? 

I. Sunit sits exactly between Amit and Vijay, and Vijay 

sits on the immediate right of Ramesh. 

II. Sunit sits second to the left of Ravi and is second to 

the right of Ramesh. 

Ans:- C 

 

112. How is X related to Y? 

I. A has only two kids X &Y and is mother-in-law of B, 

who is sister-in-law of Y. 

II. C is the sister-in-law of X and daughter-in-law of D, 

who has only two kids X and Y. 

Ans:- A 

 

113. Five friends A, B, C, D and E are standing in a row 

facing east. Who is standing at the extreme right end? 

I. Only A is between D and E. C sits on the immediate 

right of E. 

II. C sits between E and B. 

Ans:- E 

 

114. How far is point C from point A? 

I. A person starts from point A, walks 12m to the 

south, takes a right turn and walks 2m. He then takes 

a left turn and walks for 5m. He takes a left turn again, 

walks for 2m and reaches point B. if the person takes 

a left turn and walks 5m, he will reach point C. 

II. A person starts from point A, walks 12m towards 

east, takes a left turn and walks 4m. He then takes a 

left turn again and walks for 12m to reach point X. If 

he takes a right turn from point X and walks 6m he 

will be 29m away from point C. 

Ans:- A 

   

115. Is S mother of M? 

I. Q is the father of L and M. O has only one brother 

Q. S is sister-in-law of O. O is unmarried. T is mother 

of O. T has only two children. 

II. U has only two children Q and O. Q is the father of 

L. M is the only brother of L. O is unmarried. U is 

father-in-law of S. 

Ans:- C 

 

116. All the five persons H, I, J, K and L, are sitting around 

a circular table. Does K face the center? 

I. K sits on the immediate right of L. L faces the center. 

J sits second to the left of K. H is not an immediate 

neighbor of I. 

II. I sits on the immediate right of J. H sits on the 

immediate left of L. L is not an immediate neighbor of 

I. L faces the center. K is not an immediate neighbor 

of J. 

Ans:- A 

 

117. All the five persons P, Q, R, S and T are sitting in a 

straight line facing either north or south. Does Q sit 

between S and R? 

I. P sits at one end of the line. Only two persons sit 

between P and R. T sits on the immediate left of R. Q 

and S are immediate neighbor of each other. 

II. T faces north and sits at one of the extreme ends 

of the line. Only two persons sit between T and S. R 

sits second to the right of S. R is on the immediate left 

of Q. 

Ans:- B 

 

118. In a college five different subjects, viz History, Civics, 

Geography, Hindi and Sanskrit, are taught on five 

different days of the same week, starting from 

Monday and ending on Friday. Is Civics taught on 

Wednesday? 

I. Two subjects are taught between Hindi and 

Sanskrit. Sanskrit is taught before Hindi. Civics is 

taught on the day immediately after the day on which 

History is taught. Geography is not taught on Friday. 

Hindi is not taught on Wednesday. 

II. There are three lectures are scheduled between 

the lectures of Geography and Hindi. Sanskrit is  

taught immediately before History. 

Ans:- C 
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119.  Four friends L, M, N and O are seated in a circle 

facing the center but not necessarily in the same 

order. Is anyone seated exactly between N and O, 

when counted from the left of N? 

I. M is seated on the immediate right of N. 

II. M is seated on the immediate left of L. O is not an 

immediate neighbor of M. 

Ans:- B 

 

120. Among P, Q, R, S and T seated in a straight line, but 

not necessarily in the same order, facing north, who 

sits exactly in the middle of the line? 

I. P sits third to the left of S. Q sits on the immediate 

right of R. 

II. Q is second to the right of P. T is not an immediate 

neighbor of S. 

Ans:- E 

  

121. Among five friends, D, E, F, G and H (each earning a 

different amount), who earns the least? 

I. G earns more than only F. 

II. D earns more than F, G and E. 

Ans:- A 

 

122. Is U the granddaughter of V? 

I. V, the mother of W, has only the grandson X. 

II. the only sister of W is the mother of U’s brother X. 

Ans:- E 

 

123. In which direction is Q facing now? 

I. From the point P, Q walks 6m towards west, then 

he takes a left turn and walks 7m and then takes a 

right turn and walks 4m and stops. 

II. From point R, Q walks 8m, them he takes a right 

turn and walks 4m. Point R is in the east. 

Ans:- A 

  

124. Who among E, F, G and H reached the office first? 

I. F reached the office after H but before E and G. 

II.  E reached office after G. 

Ans:- A 

 

125. Among P, Q, R, S and T , who is the heaviest? 

I. R is heavier than only P. 

II. S is lighter than Q but heavier than R and T. 

Ans:- E 

 

 

126.  How is ‘know’ written in a code language? 

I. ‘we know him’ is written as ‘246’ in that code 

language. 

II. ‘do you know them’ is written as ‘1768’ in that code 

language. 

Ans:- E 

 

127.  Who among T, U, V and W reached office first? 

I. U reached the office after W but before T and V. 

II. T reached the office after V. 

Ans:- A 

 

128. Among X, Y, Z, F and G, who is the heaviest? 

I. Z is heavier than only X. 

II. F is lighter than Y but heavier than Z and G. 

Ans:-  E 

 

129. How is ‘here’ written in the code language? 

I. ‘we all together here’ is written as ‘2693’ in that 

code language. 

II. ‘we are here’ is written as ‘631’ in that code 

language. 

Ans:- D 

  

130. J, K, L, M and N are sitting around a circular table 

facing the center, but not necessarily in the same 

order. Who sits exactly between M and N? 

I. L, who sits third to the right of N, is on the 

immediate left of K and second to the right of J. 

II. L sits second to the right of J, who sits third to the 

left of K, who sits second to the right of M. 

Ans:- C 

 

131. Among A, B, C, D and E, who is the tallest? 

I. C and B are taller than A. A is taller than E. Neither 

C nor B is the tallest. 

II. B is taller than C but shorter than D. 

Ans:- A 

 

132. How many students are there between P and T in a 

row of fifty students? 

I.  P is 10 places away from S, who is twentieth from 

the left end. 

II. P is tenth from the left end and T is fifteenth from 

the right end. 

Ans:- B 
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133. Is D uncle of E? 

I. F is the mother of I and E. 

II. E is the nephew of D. 

Ans:-D 

 

134. Six boys J, K, L, M, N and O are there in a classroom. 

Each of them is of a different height. Who is the 

tallest? 

I. M is taller than N and K. J is taller than M but not as 

tall as O. L is taller than K. 

II. M is taller than only three boys. J is taller than K.  

Ans:- E 

 

135. Six persons R, S, T, U, V and W live in a six storey 

building such that ground floor is numbered as 1 and 

the floor above it is 2 and so on.. upto top floor 

numbered as 6. How many persons live between R 

and T? 

I. T lives on  an even-numbered floor but not on the 

top floor. Only two persons live between W and T. R 

lives below W. 

II. Four persons live between S and U. No one lives 

between S and T. V lives immediately above R. 

Ans:- E 

 

136. Six persons A, B, C, D, E and F are sitting in a row . 

All of them are facing north. Who among the 

following sits second from the right end? 

I. B sits at an extreme end of the row. A sits second to 

the right of B. Only one person sits between A and C. 

E sits on the immediate right of C. 

II. E sits third to the right of D. Only one person sits 

between E and A. F sits to the right of E. C is an 

immediate neighbor of E. 

Ans:- A 

 

137. Six friends A, B, C, D, E and F are sitting around a 

circular table facing the center. Who sits second to 

the left of E? 

I. B and F sits opposite each other and E is the 

immediate neighbor of B and D. 

II. C sits second to the right of D, who sits second to 

the right of E. 

Ans:-  B 

 

138. Who scores the highest runs in a match, among five 

players V, W, X, Y and Z? 

I. V scores equal to W, who scores 5 runs more than 

X. 

II. Y does not scores the highest runs, but he scores 9 

runs more than X. 

Ans:- E 

 

139. How is A related to E? 

I. A is the wife of B. C is wife of D. E is sister of F, who 

is daughter of D. 

II. D is the husband of C, wo is daughter-in-law of B 

and mother of G. 

Ans:-  E 

 

140. What is the position of X in a row of seven persons? 

I. Q stands at the extreme end of the row and there is 

only one person between Q and P. 

II. V stands between T and S, and X stands between S 

and P. 

Ans:- E 

 

141.   How is ‘win’ written in a code language? 

I. In a code language ‘way to win’ is written as ‘sa la 

da’ and ‘in a way’ is written as ‘ni da ka’. 

II. In a certain code language ‘way for market’ is 

written as ‘sh da pi’ and ‘way for hall’ is written as ‘da 

pi ma’. 

142. Ans:- I. R is heavier than only P. 

II. S is lighter than Q but heavier than R and T. 

Ans:- A 

  

143. How is B related to F in a family of five? 

I. G is father-in-law of C, who is wife of B. F is brother 

of E, who is son of G’s son. 

II. F is son of C, and G is grandfather of E, who is son 

of B. C and B are married couple. 

Ans:- B 

 

144. A, B, C, D, E and F are standing in a straight line 

facing north. Who is at the extreme right end of the 

line? 

I. There are two persons between C and A and both 

are not at the extreme ends of the line. 

II. F is on the immediate left of C. B is second to the 

right of E. 

Ans:- C 

 

145. Who among U, V, W, X and Z is the shortest? 
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I. W is shorter than V and equal to X. Z is not taller 

than U. 

II. W is shorter than only two persons. 

Ans:- D 

 

146. P, Q, R, S, T, U and V are sitting around a circular 

area facing the center. 

I. S is second to the right of V. R and Q are immediate 

neighbors. Q is not the neighbor of either V or S. 

II. R is not the neighbor of S but sits second to the 

right of T. 

Ans:- C 

  

147. Six persons are standing in a queue according to 

their height in descending order from left to right. 

Who is the shortest? 

I. P is not the shortest among them. U is standing 

between P and Q. 

II. T is shorter than S, who is taller than P. Only two 

persons are standing between T and U. T is taller than 

R. 

Ans:- D 

 

148. Among N, P, Q, R, S, T and U, who sits second to the 

right of T? (All are sitting around a circular table facing 

the center.) 

I. Q is third to the left of R. t is third to the right of N.  

II. S is second to the right of P, who is third to the right 

of U. 

Ans:- C 

 

149. How is B related to E? 

I. E is mother of A and wife of C, who is son-in-law of 

G. 

II.  A is niece of B and C is brother in law of B. 

Ans:- C 

 

150. How many students are there in class 8 in school K? 

I. The class teacher of class 8 correctly remembers 

that the number of students in her class is more than 

21 but less than 32. The number of students in her 

class is exactly divisible by 6. 

II. The principal of school K correctly remembers that 

the difference between the number of students in 

class 7 and in class 8 is less than nine. There are 33 

students in class 7. 

Ans:- E 

151. Among A, B, C, D and E, seated around a circular 

table, facing the center, who sits second to the right 

of C? 

I.  C sits on the immediate right of A. Only two people 

sit between B and A (when counted from left or right). 

II. Both D and C are immediate neighbors of B. E sits 

second to the right of B. 

Ans:- E 

 

152. Amongst five bags L, M, N, O and P, each having a 

different weight, which is the lightest? 

I. Only two bags are heavier than O. O is heavier than 

P but lighter than M. 

II. N is lighter than O but heavier than P. L is heavier 

than O, but not the heaviest. 

Ans:- B 

 

153. How is M related to S? 

I. M is the only grandson of S’s father-in-law. 

II. S has no sibling. 

Ans:- A 

 

154. Among D, A, G, H and E, who secured the highest 

marks? 

I. E secured more marks than G and H but less marks 

than D, who did not secure the highest marks. 

II. A secured more marks than H and E, and G secured 

less marks than E. 

Ans:- A 

 

155. How is ‘more’ coded in the code language? 

I. ‘more of its book’ is coded as ‘sx pi ko fe’ and ‘all 

book and cash’ is coded as ‘ga to zu ko’. 

II. ‘its point for origin’ is coded as ‘ba le fe mi’ and 

‘make of point clear’ is coded as ‘mi sx de si’. 

Ans:- E 

 

156. Point P is in which direction with respect to Point Q? 

I. Point R is to the west of point Q. Point S is to the 

north of point Q. P is to the south of point S. 

II. T is to the south of point P. Point T is 4m from point 

Q and point P is 9m far from point Q. 

Ans:- E 

 

157. Are all friends P, Q, R and S, who are sitting around 

a circular table, facing the center? 
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I. Q sits to the right of S, who faces the center. R sits 

on the immediate right of both Q and S. 

II. P sits on the immediate left of Q. R is not on the 

immediate left of P. R is on the immediate right of S. 

Ans:- C 

 

158. Who is the daughter-in-law of P? 

I. R is brother of N. T is son of N. S is mother of T. 

II. P is wife of U. U is father of N. U has two children. 

Ans:- E 

 

159. Among six people A, B, C, D, E and F, each lives on 

different floor of six-storey building. The ground floor 

is numbered 1 and the topmost flor is numbered 6. 

Who lives on the topmost floor? 

I. E does not live on an even-numbered floor. B lives 

on an even-numbered floor but not on the topmost 

floor. 

II. D lives on an odd-numbered floor. There are two 

floors between the floors on which D and A live. E 

lives on a floor immediately above C’s floor. 

Ans:- E 

 

160. Among P, Q, R, S, T and U, who is the tallest? 

I. S is taller than T and Q. P is taller than S but not as 

tall as U. R is taller than Q. 

II.  S is taller than only three. P is taller than Q. 

Ans:- E 

 

161. Six persons A, B, C, D, E and F live in a building but 

not necessarily in the same order. There are six floors 

in that building and only one person lives on each 

floor. The ground floor is numbered 1and the floor 

above it numbered 2 and so on. The topmost floor of 

the building is numbered 6. How many persons live 

between A and D? 

I. C lives on an even numbered floor but not on the 

topmost floor. Only two persons live between the 

floor on which F and C lives. A lives below F. 

II. Only four persons live between the floors on which 

B and D live. No one lives between the floor on which 

B and C live. F lives immediately below D. 

Ans:- D 

 

162. Six persons J, K, L, M, N and O are sitting in a row 

facing north. Who among the following sits third from 

the right end?  

I. K sits at an extreme end of the row. J sits second to 

the right of K. Only one person sits between J and L. 

N sits on the immediate right of L. 

II. N sits third to the right of M. Only one person sits 

between N and O. O sits to the right of N. L is an 

immediate neighbor of N. 

Ans:- B 

  

163. Is Z maternal Uncle of D? 

I. L and C are sisters of Z and R is husband of C. 

II. X is father of D and is husband of Z’s sister. 

Ans:- D 

 

164. Among I, G, E, B, H and J, who has secured the 

maximum marks? 

I. H secured more marks than I and J but not more 

than G, E and B. 

II. E secured more marks than H but not as much as 

B. G did not secure maximum marks. 

Ans:- E 

 

165. P, Q, R, S, T and U are sitting in a straight line, facing 

north. Who among them sits second to the left of R? 

I. Q sits third to the left of T, who sits at an extreme 

end of the line. Only one person sits between Q and 

S. 

II. r is not an immediate neighbor of either T or U. U 

sits at an extreme end of the line. 

Ans:- E 

  

166. How is A related to B? 

I.  C has two children but has only one son. A is 

brother of D. 

II. B is father-in-law of C. E is father of D, who is 

granddaughter of B. 

Ans:- E 

   

167. In which city does T live among B, C, D, E and F? Only 

one person lives in each city. 

I. R and J live in the city F and C respectively. T does 

not live in the city D. 

II. Q lives in either city B or E. 

Ans:- D 

 

168. Among P, Q, R, S and T, who among the following is 

lighter than only the heaviest? 

I. S is lighter than P and R. Q is heavier than only T. 
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II. S is heavier than only two persons. Q is lighter than 

S and R. R is not the heaviest. 

Ans:- E 

 

169. In which direction is B with respect to C? 

I. U is to the west of J, which is to the west of N. N is 

to the north of C. B is to the south of N. 

II. N is to the east of J. C is to the south of N. U is to 

the south of J and Bis to the West of U. 

Ans:- D 

 

170. Five persons U, V, W, X and Y are sitting in a row 

facing north. If V sits in the middle of the row then 

who among them sits at the extreme right end of the 

row? 

I. U sits on the immediate left V and on the immediate 

right of X. W does not sit at extreme right end of the 

row. 

II. W sits at either extreme end of the row. Neither X 

nor Y is an immediate neighbor of W. 

Ans:- A 

 

171. How is E related to F? 

I. H is father of G. G is mother of E. F is grandmother 

of E. 

II. H is mother of G. E is the only brother of G. F is 

father of G. 

Ans:- B 

 

172. Five persons A, M, N, S and T are sitting around a 

circle facing outward. Who among them sits on the 

immediate left of S? 

I. A sits exactly between M are T, and N sits on the 

immediate left of T. 

II. S sits exactly between M and N, and A sits on the 

immediate left of M. 

Ans:- C 

 

173. P, Q, R, S, T, U and V are sitting around a circle facing 

the center. Who sits on the immediate left of U? 

I. V and S are immediate neighbors of P. T is not an 

immediate neighbor of Q. 

II. R sits between U and Q and third to the right of P. 

Ans:- E 

 

174. How is ‘center’ written in a code language? 

I. In that code language ’facing the center’ is written 

Aas ‘ki pa va’ and ‘center of circle’ is written as ‘ta pa 

ra’. 

II. In that code language ‘around the center’ is written 

as ‘ki pa ra’ and ‘only center of paper’is written as ‘sa 

ta za pa’. 

Ans:- C 

  

175. How is ‘Sulbha’ the girl related to ‘Mitesh’?] 

I. Shreya, the cousin of Mitesh, is niece of Sulbha. 

II. Sulbha’s sister Silpa is wife of Ram, who is father of 

Mitesh. 

Ans:- B 

 

176. Five friends A, B, C, D and E ae sitting around a 

circular table. Are all of them facing the center? 

I. E and A are immediate neighbors of D, who sits 

second to the right of A. D is facing the center. 

II. D and E are immediate neighbors of each other. C 

sits second to the right of E. A is third to the left of B, 

who is not facing outward. 

Ans:- A 

 

177. What is Punam’s rank from the top in a class of 46 

students? 

I. Pihu is 11th from the top in the class and 10 ranks 

above Puspa, who is 7 ranks below Punam. 

II. Piya , who is between Punam and Priti, is 14th fro, 

the bottom. 

Ans:- A 

 

178. Who among A, B, C, D, E and F is lighter than only 

the heaviest? 

I. F is heavier than B but lighter than D, who is not the 

heaviest. 

II.  B is heavier than A and E. 

Ans:-  D 

  

179. Who among P, Q, R, S, T and U is second to the right 

of S? (All are sitting in a circle facing the center.) 

I. R sits opposite S. t and U are immediate neighbors 

of S. 

II. P and U are immediate neighbors. 

Ans:- C 

 

180. In which direction is Q with respect to T? 
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I. P is to the north of C and W is to the east of C. Q is 

to the north-east of C. 

II. T is to the south of C and Q is to the east of P, which 

is to the north of C. 

Ans:- E 

 

181. How is D related to J? 

I. F is sister of D and B is brother of D. 

II. Mother of D is married to J, who has at least two 

daughters. 

Ans:-  D 

 

182. R is in which direction with respect to A? 

I. M is to the south of R. A is to the east of P. 

II. P is to the north of M and to the south of R. 

Ans:- E 

 

183. How many sister does Pratik have? 

I. Janki, who is mother of Pratik, in only daughter of 

Pushpa. 

II. Pushpa has three grand children. Rohan is husband 

of Janki. 

Ans:- D 

  

184. Who among A, B, C, D and E is exactly in the middle 

of the line? ( All are sitting in a straight line facing 

south.) 

I. B sits third to the right of D, who sits exactly 

between A and E. 

II. Neither D nr C sits at the extreme ends of the line. 

There are two persons between E and C. A sits second 

to the right of E. 

Ans:- B 

 

185. How is ‘grapes’ written in the code language? 

I. ‘sweet and tasty mango’ is written as ‘pa si li ta’ in 

a code language. 

II. ‘tasty grapes and mango’ is written as ‘pa li ta ri’ in 

a code language. 

Ans:- E 

 

186. Who is Priti’s sister? 

I. Sweta is granddaughter of Punit, who is father of 

Priti’s father. 

II. The name of Priti’s sister starts with letter ‘S’. 

Ans:- D 

 

187. Six persons A, B, C, D, E and F are sitting around a 

circular table facing the center, but not necessarily in 

the same order. Who is on the immediate right of E? 

I. Only F is sitting between E and A. 

II. A is third to the right of D. 

Ans:- D 

 

188. What is the shortest distance between two points 

‘L’ and ‘M’? 

I. Point Y is to the west of L at a distance of 6 km and 

to the north of M at a distance of 8 km. 

II. D is 13 km north of L, which is to the east of M at a 

distance of 12 km. 

Ans:- C 

 

189. What is the code for ‘three’ in a code language? 

I. In that code language ‘pi ti ri’ means ‘I am going’ 

and ‘xi ne be fe’ means ‘the weather is cold’. 

II. In the same code language ‘pi ti mi ri’ means ‘I am 

going there’ and ‘xi fe pa’ means ‘weather is sunny’. 

Ans:- E 

 

190. Who among the five friends Amit, Vijay, Kunal, Rohit 

and Kundan is the youngest? 

I.  Kundan is elder than three of them but Amit is 

younger than Kunal. 

II. Vijay is older than Rohit and Kundan. 

Ans:- D 

 

191. Among A, B, C, D, E and F, who is the shortest? 

I. B is taller than C and D but shorter than A. E is taller 

than A, but not the tallest. 

II. F is taller than E and B. C is taller than D. 

Ans:- E 

  

192. J, K, L, M and N are sitting in a straight line facing 

north. Who sits in the middle of the row? 

I. N sits second to the left of  K and on the immediate 

right of M. K sits on immediate left of L. 

II. J sits second to the of L, who sits on the extreme 

left end of the row. N is not an immediate neighbor 

of J. 

Ans:- C 

 

193. On which day does Rupesh celebrate his Birthday? 
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I. Rupesh’s brother remembers that his birthday is 

before 9th August but After 6th August. 

II. Rupesh’s mother remembers that his birthday is 

after 5th August but before 8th August. 

Ans:- E 

 

194. How is K related to D? 

I. A is married to C, who id the father of D. 

II. D is the brother of G and A is the child of h, who is 

married to K. 

Ans:- D 

 

195. What is Pooja’s rank from top in a class of 35 

students? 

I. Pooja is five ranks below Amit, who is ninth from 

the top. 

II. Pooja is three ranks above Sumit, who is 

seventeenth from the bottom. 

Ans:- C 

 

196. A, B, C, D and E are sitting around a circular table 

facing the center. Who sits second to the right of A? 

I. C is on the immediate left of E and second to the 

right of D. 

II. B is on the immediate right of D and third to the 

left of A. 

Ans:-  B 

 

197. Among P, Q, R, S and T, who is the youngest? 

I. R is younger than S. 

II.  T is younger than Q but older than P. 

Ans:- D 

 

198. How is Sudha related to Priya? 

I. Pooja’s sister Sudha is Raju’s wife. Priya is Raju’s 

good friend. 

II. Priya is Raju’s brother’s wife and Sudha is Raju’s 

wife. 

Ans:- E 

 

199. What is the code for ‘all’ in the given code 

language? 

I. In the code language ‘vt bx df’ means ‘we all know’. 

II. In the code language ‘st bx vt’ means ‘we know 

him’. 

Ans:-  E 

 

200. V, W, X, Y, Z and A are sitting in a straight line facing 

north. Who sits on the immediate left of V? 

I. Only two persons sit on the right of Z. Only one 

person sits between Z and A. 

II. Z sits second to the left of V, who sits at the 

extreme end of the line. X is third to the right of A. 

Ans:- B 

 

 


